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TOPIC:- Units, Dimensions and Measuremennt  

SUB TOPIC:- Errors in Measurement. 

1. The length and breadth of a rectangular sheet are (16.2 + 

0.1) cm and (10.1 + 0.1) cm respectively. The area of the 

sheet in appropriate significant figures and error is :- 

(1)  (164 + 3) cm
2
              (2) (163.62 + 2.6)cm

2
 

(3) (163.6 + 2.6) cm
2
        (4) (163.62 + 3) cm

2
 

2. Measure of two quantities along with the precision of 

respective measuring instrument is :- 

A = (2.5 + 0.5) m/s   B = (0.10 + 0.01) s the value of AB 

will be 

(1) (0.25 + 0.08)m          (2) (0.25 + 0.5) m 

(3) (0.25 + 0.05)m          (4) (0.25 + 0.135)m 

3. You measure two quantities as A = 1.0m + 0.2m, B = 

2.0m  + 0.2m. We should report correct value of  𝐴𝐵 as. 

(1) (1.4 + 0.4)m              (2) (1.41 + 0.15)m 

(3) (1.4 + 0.3)m              (4) (1.4 + 0.2)m 

4. The radius of a sphere is (5.3 + 0.1) cm. The percentage 

error in its volume is :- 

(1) 
0.1

5.3
 x 100                    (2) 3x

0.1

5.3
x 100 

(3) 
0.1 x 100

3.53
                      (4) 3 + 

0.1

5.3
 x 100 

5. A body travels uniformly a distance of (13.8 + 0.2)m in a 

time (4.0 + 0.3)s. The velocity of the body with in error 

limits is: 

(1)  (3.45 + 0.2)m/s       (2) (3.45 + 0.3)m/s 

(3) (3.45 + 0.4)m/s        (4) (3.45 + 0.5)m/s 

6. If the length of rod A is (3.25 + 0.01) cm and that of B is 

(4.19 + 0.01) cm then the rod B is longer than rod A by :- 

(1) (0.94 + 0.00) cm     (2) (0.94 + 0.01) cm 

(3) (0.94 + 0.02) cm      (4) (0.94 + 0.005) cm 

7. A physical quantity is given by X = M
a
L

b
T

c
. The 

percentage error in measurement of M,L and T are 𝛼,β 

and γ respectively. The maximum percentage arror in the 

quantity X is :- 

(1)  a𝛼 + bβ + cγ             (2) a𝛼 + bβ - cγ 

(3) 
a

𝛼
 + 

b

β
 +

c

γ
                      (4) )  a𝛼 - bβ - cγ 

1. fdlh iVy dh yEckbZ ,oa pkSMkbZ (16.2 + 0.1) lseh rFkk 

(10.1 + 0.1) lseh ekih xbZ gS rks bldk {ks=Qy lkFkZd vad 

esa Kkr dhft, rFkk =qfV gS %& 

(1)  (164 + 3) cm
2
              (2) (163.62 + 2.6)cm

2
 

(3) (163.6 + 2.6) cm
2
        (4) (163.62 + 3) cm

2
 

2. ekiu midj.k dh ifj’kq)rk ds lkFk nks jkf’k;ksa dk ekiu gSA 

A = (2.5 + 0.5) eh-@lS-] B = (0.10 + 0.01) lS- AB dk eku 

gksxkA 

(1) (0.25 + 0.08)m          (2) (0.25 + 0.5) m 

(3) (0.25 + 0.05)m          (4) (0.25 + 0.135)m 

3. nks jkf’k;ksa ds eku gS A = 1.0m + 0.2m, B = 2.0m  + 

0.2m.  𝐴𝐵 dk lgh eku gksxkA 

(1) (1.4 + 0.4)m              (2) (1.41 + 0.15)m 

(3) (1.4 + 0.3)m              (4) (1.4 + 0.2)m 

4. xksys dh f=T;k (5.3 + 0.1) cm gS blds vk;ru esa izfr’kr 

=qfV gSA 

(1) 
0.1

5.3
 x 100                    (2) 3x

0.1

5.3
x 100 

(3) 
0.1 x 100

3.53
                      (4) 3 + 

0.1

5.3
 x 100 

5. ,d oLrq (4.0 + 0.3) ehVj esa (13.8 + 0.2) lS- dh nwjh r; 

djrh gSA =qfV ds lkFk osx dk eku gSA  

(1)  (3.45 + 0.2)m/s       (2) (3.45 + 0.3)m/s 

(3) (3.45 + 0.4)m/s        (4) (3.45 + 0.5)m/s 

6. ;fn A NM+ dh yEckbZ (3.25 + 0.01) lseh- rFkk B dh yEckbZ 

(4.19 + 0.01) lseh gS rc B NM] A NM dh rqyuk esa fdruh 

yEch gS \ 

(2) (0.94 + 0.00) cm     (2) (0.94 + 0.01) cm 

(3) (0.94 + 0.02) cm      (4) (0.94 + 0.005) cm 

7. ,d HkkSfrd jkf’k X = M
a
L

b
T

c
 }kjk O;Dr dh tkrh gSA ;fn 

M,L o T ds ekiu esa Øe’k% 𝛼,β o γ izfr’kr =qfV gks rks X 

jkf’k esa dqy izfr’kr =qfV gksxh :- 

(1)  a𝛼 + bβ + cγ             (2) a𝛼 + bβ - cγ 

(3) 
a

𝛼
 + 

b

β
 +

c

γ
                      (4) )  a𝛼 - bβ - cγ 
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8. A physical quantity A is related to four observable a,b,c and 

d as follows, A = 
𝑎2𝑏3

c  𝑑
, the percentage errors of measurement 

in a,b,c and d are 1%, 3%, 2% and 2% respectively. What is 

the percentage error in the quantity A. 

(1)  12%       (2) 7%       (3) 5%         (4) 14% 

9. According to Joule’s law of heating, heat produced H = 

I
2
Rt, Where I is current, R is resistance and t is time. If the 

errors in the measurement of I,R and t are 3%, 4% and 6% 

respect finely then error in the measurement of H is. 

(1) + 17%    (2) + 16%   (3) + 19%   (4) + 25% 

10. A Physical quantity P is given by P = 
𝐴3𝐵1/2

𝐶−4𝐷3/2 . The 

quantity which brings in the maximum percentage arror in 

P is. 

(1)  A          (2) B          (3) C             (4) D 

11. A physical parameter a can be determined by measuring 

the parameters b,c,d and e using the relation a = b𝛼c
β
d

γ
e

δ
. 

If the maximum errors in the measurement of b,c,d and e 

are b1%, c1%, d1% and e1% then the maximum error in the 

value of a determined by the experiment is :- 

(1)  (b1 + c1 + d1 + e1)%         

 (2) (b1 + c1 – d1 – e1)% 

(3) (𝛼b1 + βc1 – γd1 – δe1)%    

(4) (𝛼b1 + βc1 + γd1 + δe1)% 

12. The resistance R = 
V

I
 Where V = (100 + 5) volt and I = (10 

+ 0.2)A. What is the total error in R ? 

(1)  5%      (2) 7%        (3) 5.2%        (4) 
5

2
 % 

13. The period of oscillation of a simple pendulum in the 

experiment recorded as 2.63s, 2.56s, 2.42s, 2.71s and 

2.80s respectively. The average absolute error is :- 

(1) 0.1s    (2) 0.11s            (3)  0.01s      (4) 1.0s 

14. The percentage errors in the measurement of mass and 

speed are 2% and 3% respectively. How much will be the 

maximum error in the estimation of the kinetic energy 

obtained by measuring mass and speed ? 

(1)  11%    (2) 8%             (3) 5%          (4) 1% 

15. When a copper sphere is heated, maximum percentage 

change will be observed in :- 

(1) radius    (2) area      (3) volume     (4) none of these 

16. The temperatures of two bodies measured by a 

8. ,d HkkSfrd jkf’k A pkj ekfir jkf’k;ksa a,b,c rFkk d ls fuEu 

izdkj lacaf/kr gS, A = 
𝑎2𝑏3

c  𝑑
 a,b,c, d dh ekiksa esa Øe’k% 1%, 

3%, 2% rFkk 2% =qfV;kW gSA jkf’k A ds eku izfr’kr =qfV 

Kkr dhft,A 

(1)  12%       (2) 7%       (3) 5%         (4) 14% 

9. twy ds  rkiu fu;e ds vuqlkj] mRikfnr  Å"ek H = I
2
Rt, 

tgk¡ I /kkjk, R izfrjks/k vkSj t le; gSA  ;fn I,R rFkk t ds 

ekiu esa =qfV Øe’k% 3%, 4% rFkk 6% gS rc H ds ekiu esa 

=qfV gSA 

(1) + 17%    (2) + 16%   (3) + 19%   (4) + 25% 

10. ,d HkkSfrd jkf’k P = 
𝐴3𝐵1/2

𝐶−4𝐷3/2. gS og jkf’k tks P esa vf/kdre 

izfr’kr =qfV ykrh gSA  

(1)  A          (2) B          (3) C             (4) D 

11. ,d jkf'k a ds izkpy dks b,c,d rFkk E izkpyksa dks eki dj 

fuEu laca/k }kjk fu/kkZfjr fd;k tk ldrk gSA a = b𝛼c
β
d

γ
e

δ
. 

;fn b,c,d rFkk e esa vf/kdre =qfV b1%, c1%, d1% rFkk e1% 

gS rc iz;ksx }kjk fu/kkZfjr a ds eku esa vf/kdre =qfV gS %& 

(1)  (b1 + c1 + d1 + e1)%          

(2) (b1 + c1 – d1 – e1)% 

(3) (𝛼b1 + βc1 – γd1 – δe1)%    

(4) (𝛼b1 + βc1 + γd1 + δe1)% 

12. izfrjks/k R = 
V

I
 tgk¡ V = (100 + 5) oksYV ,oa I = (10 + 

0.2)A gS R esa izfr’kr =qfV fdruh gksxh ? 

(1)  5%      (2) 7%        (3) 5.2%        (4) 
5

2
 % 

13. ,d ljy yksyd dk nksyu dky Kkr djrs gSA iz;ksx ds 

dzfed ekiuksasa esa fy, x, ikB~;kad gS %& 2.63s, 2.56s, 2.42s, 

2.71s ,oa 2.80s ek/; ije =qfV dk eku gSA 

(1) 0.1s    (2) 0.11s            (3)  0.01s      (4) 1.0s 

14. nzO;eku rFkk pky ds ekiu esa vf/kdrre izfr’kr =qfV Øe’k% 

2% rFkk 3% gSA nzO;eku rFkk pky dks ekius ds }kjk izkIr 

xfrt ÅtkZ ds ekiu esa vf/kdre =qfV fdruh gksxh \ 

(1)  11%    (2) 8%             (3) 5%          (4) 1% 

15. tc rkacs ds xksys dks xeZ fd;k tkrk gS rks vf/kdre izfr’kr 

ifjorZu ns[kk tk,xkA 

(1) f=T;k   (2) {ks=Qy    (3) vk;ru    (4) buesa ls dksbZ ugha 

16. fdlh rkiekih }kjk ekis x, nks fi.Mksa ds rki Øe’k% t1 = 
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thermometer are  :- t1 = 20
0
c + 0.5

0
c and t2 = 50

0
c + 0.5

0
c. 

Calculate the temperature difference and the error there in. 

(1) (30 + 0.5)
0
c             (2) (70 + 1)

0
c   

(3) (30 + 1)
0
c                (4) (70 + 0.5)

0
c 

17. The side of a rectangle are (10.5 + 0.2)cm and (5.2 + 

0.1)cm. Calculate its perimeter with error limits. 

(1)  (30.4 + 0.3) cm      (2) (31.4 + 0.6) cm 

(3) (31.4 + 0.3) cm       (4) (30.4 + 0.6) cm 

18. Find the relative error in z if z = 
𝐴4𝐵1/3

C𝐷3/2  

(1)  4 
∆𝐴

𝐴
  + 3 

∆𝐵

𝐵
  +  

∆𝐶

𝐶
  + 

2

3
  

∆𝐷

𝐷
                   

(2) 4 
∆𝐴

𝐴
  + 

1

3
 
∆𝐵

𝐵
  +  

∆𝐶

𝐶
  + 

2

3
  

∆𝐷

𝐷
  

(3) 4 
∆𝐴

𝐴
  + 

1

3
 
∆𝐵

𝐵
  +  

∆𝐶

𝐶
  + 

3

2
  

∆𝐷

𝐷
  

(4) 
1

4
 
∆𝐴

𝐴
  + 3 

∆𝐵

𝐵
  +  

∆𝐶

𝐶
  + 

3

2
  

∆𝐷

𝐷
  

19. The length and breadth of a rectangle are (5.7 + 0.1) cm 

and (3.4 + 0.2) cm calculate area of the rectangle with 

error limits. 

(1) (19±1.4) cm
2
         (2) (19.0 + 1.5) cm

2
 

(3)  (19 + 1.48) cm
2
       (4) (19.1 + 1.4) cm

2
 

20. A student measures the distance traversed in free fall of a 

body, initially at rest, in a given time. He uses this data to 

estimate g, the acceeration due to gravity. If the maximum 

percentage errors in measurement of the distance and the 

time are e1 and e2 respectively, the percentage error in the 

estimation of g is :- 

(1)  e2 – e1                    (2) e1 + 2e2 

(3) e1 + e2                     (4) e1 – 2e2 

20
0
c + 0.5

0
c ,oa t2 = 50

0
c + 0.5

0
c gSA bu fi.Mksa dk rkikUrj 

vkSj mlesa mRiUu =qfV dh x.kuk fdft,A 

(1) (30 + 0.5)
0
c             (2) (70 + 1)

0
c   

(3) (30 + 1)
0
c                (4) (70 + 0.5)

0
c 

17. vk;r dh Hkqtk Øe’k% (10.5 + 0.2)lseh rFkk (5.2 + 0.1)lseh 

gSA =qfV lfgr bldk ifjeki Kkr dhft,A 

(1)  (30.4 + 0.3) cm      (2) (31.4 + 0.6) cm 

(3) (31.4 + 0.3) cm       (4) (30.4 + 0.6) cm 

18. ;fn z = 
𝐴4𝐵1/3

C𝐷3/2  gks rks z dh vkisf{kd =qfV Kkr fdft,A 

(1)  4 
∆𝐴

𝐴
  + 3 

∆𝐵

𝐵
  +  

∆𝐶

𝐶
  + 

2

3
  

∆𝐷

𝐷
                   

(2) 4 
∆𝐴

𝐴
  + 

1

3
 
∆𝐵

𝐵
  +  

∆𝐶

𝐶
  + 

2

3
  

∆𝐷

𝐷
  

(3) 4 
∆𝐴

𝐴
  + 

1

3
 
∆𝐵

𝐵
  +  

∆𝐶

𝐶
  + 

3

2
  

∆𝐷

𝐷
  

(4) 
1

4
 
∆𝐴

𝐴
  + 3 

∆𝐵

𝐵
  +  

∆𝐶

𝐶
  + 

3

2
  

∆𝐷

𝐷
  

19. fdlh iVy dh yEckbZ ,oa pkSMkbZ (5.7 + 0.1) lseh- rFkk (3.4 

+ 0.2) lseh ukih xbZ gS rks bldk {ks=Qy ,oa =qfV Kkr 

fdft,A  

(1) (19 + 1.4) cm
2
         (2) (19.0 + 1.5) cm

2
 

(3)  (19 + 1.48) cm
2
       (4)  (19.1 + 1.4) cm

2
 

20. ,d fo|kFkhZ fn, x, le; esa fojkekoLFkk ls eqDr :i ls 

fxjrh gqbZ oLrq }kjk r; dh nwjh dks ukirk gSA og bu 

vkadMksa ds fy;s xq:Roh; Roj.k g dk iz;ksx djrk gSA ;fn 

nwjh rFkk le; esa izfr’kr =qfV Øe’k% e1 rFkk e2 gS rks g esa 

vf/kdre izfr’kr =qfV gksxhA  

(1)  e2 – e1                    (2) e1 + 2e2 

(3) e1 + e2                     (4) e1 – 2e2 
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ANSWER SHEET 

Question 1 2 3 4 5 

Answer 1 1 4 2 2 

Question 6 7 8 9 10 

Answer 3 1 4 2 3 

Question 11 12 13 14 15 

Answer 4 2 2 2 3 

Question 16 17 18 19 20 

Answer 3 2 3 2 2 

 


